HOW FAR AHEAD (OR BEHIND) YOU NEED (OR CAN AFFORD) TO BE TO BEAT THE OPPOSITION
(times in minutes to 2 decimal places, based on one hour elapsed time for the faster boat)

8.00 850 9.00 9.50 10.00| 10.50| 11.00 11.50| 12.00 12.50| 13.00 13.50| 14.00 14.50 15.00| 15.50 16.00 16.50 17.00 17.50) 18.00 18.50 19.00| 19.50 20.00
8.00 - 059] 118 178 240 3.03 367 6 434 500 568| 639 7.10| 7.83 8.58 9.34 10.11 10.92 11.73 12.56 13.42 14.29 15.18 16.10 |17.04 18.00
8.50 - 059|118 180 242 306 371 437 505 574 645 7.17| 791 8.66| 9.43 10.23 11.03 |11.85 12.71 |13.57 14.45 15.37 16.29 17.24
9.00 - 059|120 182 245 310 375 442 | 511 581| 652 7.26 | 800 8.76 9.55/10.34 11.16 12.00 12.86 13.73 14.64 |15.56 16.50
9.50 - 060 121 184 248 313 379 447 | 516 5.87| 660 7.34| 809 8.87 9.66 10.46 11.30 12.15 13.01 13.91 14.82 15.75
10.00 - 060] 122 186 250 315 383 451 521 593 666 7.41 818 8.96| 9.76 10.59 |11.43 12.28 13.17 14.07 14.99
10.50 - 061 124 183 252 319 387 456| 528 6.00| 6.74 7.50| 828 9.07 9.89 10.71 11.56 12.44 13.33 14.25
11.00 - 062|125 189 256 323 391 462 534 6.07 682 7.59| 837 9.18|10.00 10.84 11.71 12.60 13.50
11.50 - 062 126, 191 258 326| 396 4.66| 539 6.14| 6.89 7.67 847 | 9.28 10.11 10.98 11.85 12.74
12.00 - 063] 128 194 261 330 4.00, 472 546 6.21| 697 7.77| 857 9.39/10.25 11.11 12.00
12.50 - 064 129 196 264 334 404 4.78| 552 6.28| 7.06 7.86 8.67 9.52 10.37 11.25
13.00 - 064 130 198 266 6 337 409 6 482 558 6.35| 7.14 7.95| 878 9.63 10.49
13.50 - 065|132 200 269 341 414 488 565 643 7.23 8.05| 889 9.75
14.00 - 066 134 202 273 345 419 495| 572 6.51| 732 8.15 9.00
14.50 - 066 134 205 276 348 424 | 500 578 6.59| 7.40 8.24
15.00 - 067 137 207 279 353 429 506 5.86 6 6.67 7.50
5.50 - 069 138 209 283 357 434 513| 593 6.75
6.00 - 069|139 212 285 361 439 518 5.99
6.50 - 069 141 214 289 3.66| 444 5.25
17.00 - . 071] 143 217 293 3.71 4.50
17.50 - 071 144 220 296 3.74
18.00 - 072 147 222 3.00
18.50 - 074 ] 148 225
19.00 - 074 1.49
19.50 - 075
20.00 -
1. SELECT COLUMN BASED ON SLOWER BOAT HANDICAP 1. You are the faster boat on 12 min/hr. The opposition is on 14 min/hr. How far ahead do you need to
be?
2. SELECT ROW BASED ON FASTER BOAT HANDICAP - find the column for 14 min/hr and go down to the row for 12 min/hr - the value is 2.61
- if you have been sailing for 90 minutes then you need to be at least 90/60 x 2.61 minutes ahead
3. MULTIPLY TIME DIFFERENCE VALUE (from cell in table) BY FASTER -i.e. 3.91 minutes (3 mins 55 secs)
BOAT ELAPSED TIME (in minutes) DIVIDED BY 60
2. You are the slower boat on 18 min/hr. The opposition is on 15 min/hr. How far behind can you afford
to be?

- find the column for 18 min/hr and go down to the row for 15 min/hr - the value is 4.29
- if the opposition has been sailing for 120 minutes then you need to be no more than 120/60 x 4.29
minutes behind
- i.e. 8.58 minutes (8 mins 35 secs)




